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WEST BENGAL STATE UNIVERSITY
B.Com. Programme 3rd Semester Supplementary Examination, 2021

FACGCORO5T-B.CoMm. (DSC5)

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. fifes T FGZ TG 2T e w1
Candidates should answer in their own words AT e ©IRNT I FET AN Tl
and adhere to the word limit as practicable. Ges FRE |

GROUP-A / faeta-s

Answer any five questions from the following 2x5=10

Feferfie @-Fe o6 ame Tea wie

1 Define void agreement.

S pied Wes wis |

2. What is proposal ?
B FICP 0 ?

3. What are unfair trade practices?
SN A FIEFenst & & 9

4. What is Negotiable Instrument?
TSI wieve fee [ @R 9

5. Who isunpaid Seller?
TeifrifEe [Rtee! FIE 6 9

6. Can aminor be a partner of firm?

AT 7 936 2D SRR 20 2 9

7. What is Electronic Commerce?

RAyfed ey FIF 0 9

8. What is the effect of illegal argument?
ity Ffed AfEe & 9

GROUP-B / fTet-2

Answer any four questions from the following 5x4 = 20

Fsferfie - 51 ariw T wie

0. What is the difference between sale and agreement to sale?
e ¢ R pies sy =Mk & 2

3215 1 Turn Over



CBCS/B.Com./Programme/3rd Sem./FACGCORO05T/2021

10.

11.

12.

13.

14,

15.

16.

17.

18.

What are the different types of partners?
= & @R SR miT SRAmIN FIRRAE @4 T 9

Define ‘ Service' under the Consumer Protection Act, 1986.
(TFO! I WS, Sobrb SR GRIF RS Wi |

Distinguish between cheque and bill of exchange.
& @ Aifeifer 2fem gy @l

“No consideration no contract” — Discuss with examples the exceptions to this
rule.

“effoniel RSl §f& 27 A7 — 92 (TReH Jfoawefe Snizgel-s2 St I

What is crossing of cheques? What is general crossing? 21401

2742

(6T (@IF TS 6 @IRIRT 2 e @2UFe 7 9
GROUP-C / fetat-ot
Answer any two questions from the following 10x2 = 20
Faferie @-Fie 76 aee Tea wie

What do you mean by dissolution of afirm? What are the grounds of dissolution 3+7
of afirm?
SRAI FIFIC SRAT PICE A0 9 SRAMIG IR SRACA Fleiesfer i &6 9
What are the features and objectives of Consumers’ Protection Act? 5+5
TS Tl SR (I18) '@ TarslTaR (<10l |
Explain the dishonour of negotiable Instruments. What are the consequences of 5+5
dishonour of the negotiable Instruments?
e TRILAC15) WieTel I A | AMoe1 LW WieiteTd Feneet 6 9
Distinguish between: 5+5

M7 rales

(8 Company and partnership

@A @R SRS

(b) Higher purchase and Installment sale

3215
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Sudents are strongly advised not to submit multiple copies of the
same answer script.

X




